ALY Y 4 Y 0 alad) 30 dalad) 4 gilEl) Balgdl (Al el g A 3l 3505 9

Yore ol YY Cud) 3lall agle :¢ 4 Ay Al dalad) 4y pyaall
Sliladiayl 5 dla
sl ciladaly ) Bala (A Al &) s Jilwal) 230

;(éj‘ Ol saall

ULl an ) o) la glaall o 3541 5 dae pllALE e danls A1 Jlerials e - 1 4daadle
(Aadsall 8 351 sl Jilusall (i i ol IV ) 5) Ay 3 (i i AaY) i el qaaany -

(&l 4) -1

(d) pfivsall y x — 2y +27 — 6 =0 Ualaall 53 (P) (5 sl \J;ﬁc(o;ij’,ﬁ’)ewﬁbd\s;\\h}”ch'aﬂ\g
X= m+l1

(mel) s yriem ol Cas dy=2m+1 SValeall 53
z=2m+2

(P) o 2alxiall 5 (d) s 5 53 (g siaall 58 (Q) Sy (d) Sl Ak A (1515 2) oS3
(Q) s sivall Ao & 2x—2=0 Ol o (1

X =2t
((tell) s prietdus Jy=5t-3 Valeall 53 (A) sl G 0 (Y
z=4t

Q) 3 (P) o sionall (s (el 1
(A3 (d) cxinnd) (bl ki B iLdia) aa -3 (3
(A) paisl) e A Aaill 53 salad) Llany) ¢ F Al Cilas) aa b

(P) sl 5 (d) pufinsall (g9l U aladll cus ans) -
(@lds 4) - |1

(sl e a8l skl AIMT sMcBeA Lumq;)s‘(o;a,(,) Alaill ilall (L jall (5 siunall
LZ#] 3z¢—2}z':£ Olde 77 ¢z¢§¢2
Z—1
.31
(2 =26t ol aih gl 13 b kil (1
1 ol aall il 3 5 seall 3x g
" ..“.. s ﬁ (Z,)40 ui ..~..~ \ —b
s daely 5 ) cyexCunz =x+iy 3 z=x+iyosd(2
yix ANy y s x a» -a
Ly 3 x Yy AMBM sl b
Olia (BM) 3 (AM) Cpandivall ()8 cL;.\;S e a7 OIS el cﬁ.u.w\ -C
(Z-1D)@z-i)=2+iy 33 -a(3
Aas M Al b ¢ (f5 ksl Cauaiy B S all 3 (€) Bl e M Adadill CSTa 1) el il -
Lok Ciaig s S e aad cany (C) 380 e



(«las 4) - 111

s il 3 5ol jaa Gl 4 o a5 5iny
b LS Gl 0 GAY) 2 saal 5 Ll pfie il EU s o el 138 A
AN Gl sl a5 eI ) e g ) Gl sl a3 sl 2 s il 5 A58 Al cusls

i Lﬁ}hﬂ,é\ﬁycl\\.g\.bgi\)j i dm;\oi o (l
21 7 G (93

LOns) e C AY) el & 65 g el s Ay saaal) 5V AU (65 ) Jlatial canal (2
sl es Gm AN el ¢ 5S5 G Jlaia) el el gas Ay sl oY) A o Wle (3

L3162 61 1Al Jant oo gud) il (i 5 4 63 62 1 a8 V) Jas ) yeall Ll () andll 138 6 (2 yiid B
oSl e clln GO Baa g dada Ll sie jlias

A0 G A gl N LAl e Gl Jest O Jlais) sl (1

X omiall Jlaia ¥ ag ) sill a3s 2 &8 51 cld clall aae (g b Al 4 sdall 3 el X oS3 (2

(&l 8) - IV

g(x) =x° =1+ 2InX : b S ]0; 400 e ADaall A o8 g oST-A
dimg(x) 5 Iirrgg(x) s (1

g AN el Jsas il e gr(X) cmal (2

X el o s g(X) 5L il o3 e g (1) cma) (3

.(o;T,]) a5 siall Al o3a Gl (C) 0S5 F(X) =x_'”_2X b LS 03400 e Bee f A c<4-B
X

Y =X Al 53 sl (d) oS4
(C) el o i Alilre 5 limF(x) 23 (1

(d) pstiedl auily (C) Olall & ge X a0 )3 -3 (2
(C) 0l lie s (d) asiisad) G G 5 lim F(X) 23 -b

X) . .
Faal d}q,az;;mjf'(x):&) o aisi-a (3
X

(d) aitivall G 3150 (C) hall (A) obad) (5% G (C) gl e E 3kl s3a -
(C) 3(A) 3(d) mi -C
Oasiineall 5 () psiinadl ¢(C) Ghalls 323l Aalaial) dalia A (o) oS5 ¢ 1 o S Liiia lase o0 oS0 (4
X=a 53X =1 o) g3
In x -1-Inx

i e kol dun [—Zdx=——=+ k ol gii-a
X X

oAy A(a) 2= -b

oc—l)2

Aa) < ( Ol 858 (S Al s sl Jamiid -C




Bareme SV 2015 2nd session An

Q.l Answers N
2(m+1)—(2 m+2):O,N-m:2—2=O hence 2x — z = 0 is an equation of (Q).
1 - 1
OR: AM-(Vd /\NP):O<:>2x—Z=O.
2t—2t=0;t-5t+ 6+ 4t—6 =0 hence (A) verifies the equations of the two planes.
2x-2=0
2 OR: we solve the system X~z taking x = t. 0.5
X—2y+2z2-6=0
B is the point of intersection of (d) and (P):
m+1-4m-2+4m+4-6=0—->m=3.B(4;7;8).
33 m+1=2t 1
OR: we solve the system < 2m+1=5t-3
2m+2 =4t
If Fis the orthogonal projection of A on (A)then AF-V, =0.; V, (2;5;4) and
3b | — 1
AF(2t-1;5t—4;4t—-2) ; 4t—2+25t—20+16t—8=0 then =2, f(2,1.8)
3 3'3'3
3.c | If ais a measure of the angle of (d) and (P) then COSo = % = ? 05
Q.11 Answers N
5
la | -1-i=2e* 0.5
3
z=\l2e* =2 —£+i£ =-1+i.2'= “iri+2 —1—|—«/_e 4.
1.b 2 2 Ari-i 05
()" =2%e*™ = 2% = 2% then (z’)40 is a real number
, 242 X424y ><X—i(y—l) ~ x2+y2+2x—yJri X—2y+2
z—i  x+i(y-1) x-i(y-1) x2+(y—1)2 x2+(y—1)2'
2.a 2 12 _ _ 1
thenx' = =¥ +2x2y et y’:Lerzz.
x?+(y-1) x?+(y-1)
2b | AMBM=x2+y?+2x V. 05
m.mzx2+y2+2x—y
2.c | If z'is pure imaginary so Y 42Xy =0; X*+y*+2x-y=0; AM.BM =0 0.5
X2 +(y— 1)
Therefore (AM) and (BM) are perpendicular.
. z+2 2+i : :
3a | (Z-1)(z-i)= (ﬁ_ j( =2 i)=24i 05
If M moves on the circle with center B and radius \/g o) |z—i| = \/5
3b 5 _5 05

z’—]“z—i|:|2+i|=\/§; 121 = 2 \/5_1 therefore M’ moves on the circle with

center H(1) and radiusl.




Q.111 Answers N
P(N,N,N)=3,22_ 1 PIN,R,R)=3,4.4_4
1 ( ) 77676 21 0'5'4,:#2 ( ) 77676 21 0.5
A
3 |P (the two other balls are red / the first ball selected is black) —g f—g, 05
1 | P(two balls having the same number) = P{1,1,x}+P(2,2,x}+P{3,3.x}= 3 c Xscé _15_ 1
C 35
B 7
=10;1,2 G w2 CoxC; _20_4. _CxC 5 1
2 { } P(x=0) = c 3 7’ P(x=1) = c 37  PX=2) [ 1.5
Q.1IvV Answers N
1 IXiLrgg(x)=—oo and xIi%rpoog(x)eroo. 0,5
X 400
2 | g0=3x2+2>0. g () + 0,5
A X gx) || ——— "+
—00
g is strictly increasing on ]0;+oc[ and g(1) =0 then:
3 if 0<x<1 theng(x) < g(1) and g(x)< 0,5
if x>1 theng(x) > g(1) and g(x) > 0.
1 Ixiggf(x) = +oo ; the line of equation x=0 is an asymptote to (C). 0,5
f(x)— y——ln—X (C) and (d) intersect at the point (1; 1).
x?
2.a ForO<x<1;f(x)—y>0; (C)isabove (d); 0.5
For x>1 ;f(xX)-y<0, (C)isbelow (d).
1
2b Xlirpwli](—z |me2XX—|Lnl§_o:|Lrp”f(x) too Iimm[f(x)—y]=JLrpw—T(—z)(=0;y:xasymptoteto(C). Y
1u(x):l_x—2>§Inx=1_1—23Inx o 1 oo
3.a 3 X2| ) X ol — o+ 1
x*=1+2Inx 9g(X + I
_ X3 _ X3 . f(x) 00\\‘]/ o0
L L L 1
3b | F'X)=1;9(x)=x*; -1+2Inx=0; x=e2;f(e2 =e?—-—, E(ez;ez——} Y,
2e 2e
B |
| u=Inxandv —X—lz ; u':E and v:—l.
‘,‘ /,/,4‘ X X
3.c N 1 ba | (xg_-hx 1 —hx 1 -1-Inx 1
-[ J.xz T ox ox X
4b | A(e)=[[x—f(0ldx = j'”x BLLLY (1—1—'”—“) 05
1 X h X4 a
2 _\2
7 A(a)<[(x-Dx: Ala)<%-—o+ 5 Ala)< (o 21)
\ 1
4c , since the colored region is inside the right isosceles triangle IJK 05
/|// J % )
A(a)< Areaof thetriangle JK; A(a)< IJ);JK;A(a)<(a;1) .
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